4, Some of the code is missing. Figure out the pattern and
write the code numbers for the letters €, 6, and A. Then use
the pattern to solve the riddle.

A B € D E F 6 H
1 2 2?2 7 11 16 ? ?

What gets shorter as it grows older?

4 29 1 67 56

5.  Delivery persons and visitors have a difficult time finding
this house. There are no numbers that show the address.
The problem is easily solved. The owners will go to the
hardware store to buy some numbers to mount next to
the front door. Solve the following riddle to figure out
which numbers they will buy.

e The address has three different digits.
e The first digit is greater than four.

e The product of the first two digits is 12.
e The sum of the three digits is 17.

What is the address?



